finaim1314COC149sulllljjplacealkref-Alfredo Alvarez https:f!xlitempmd.pearsoncmg.qomlapi/vl/print/math :

ON—03—-2 > ef-7-¢& .
/ - — - — - {){'r CN—L P _Yi—{f—to "eé—ﬂ’a /
i ‘Student: Instructor: Alfredo Alvarez Assignment: 7

! Date: Course: Math 1314 Sullivan Coreq ﬂn_alm_1314COC1495uIIIIjjplacealkr§f g

1’ 3.5684523 ?. e é/(/ W 25 o

| : . =

\ {a) The given number truncated to two decimal places is ! — N
\ 7.56 Tranculef =
| ., R

(b) The given number rounded to two decimal places is

T 256 7Y S5

- .
1. Approximate the given number t}"fruncajeé and (b) q@ﬂﬁded to two decimal places.

A
Answers 3.56 /} ’/ _
3.57 ro st 7P [
‘S’* 7 :‘-\'.__:;/", yf'avtv\/(/‘/( e
@— Lo dec R
ID: Quick Check R.1.29 . e

Al

. Use the Distributive Property to remove the parentheses. -’;»\9 s
5

3(2x+5) 5(1\/7” ) = ..‘_//

3(2x+5)= | Pt 4 —+ /5:’:"\;:.::

- e

Answer: 6x+ 15

ID: Quick Check R.2.40

3. Evaluate.

Lrard AR
\
W
l
~
~H
\
1
%
Y
=

ite the given fraction in simplest form. S © .
A

]
-

- 50 ‘/0 2"3/
N - u{«;"j:; [ (g
R m— 2wt s
| ¥ S %/% < | sd
\ Answer: 5 1 ¢ 2= L ¢ \ /

Z

e 12/26/2019, 4:03 PM
T T — =

2 e _ | ]

' ID: Quick Check R.3.3 - = U
/ . uick Chec @ (/ . i .
; \ | - /]
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5. Find the product, and write in lowest terms, if necessary. —

) 15 27 v )//’/\//‘r"’
B , ¥ A
—2 3-S5 ®
2 15 _ - | o "
"3 (Type an integer or a simplified fraFtt?n.) :
Answer. 5 24
B y _ /

ID: Quick Check R.3.4

4 o [f— G
6. Divide and express your answer in lowest terms. / —_ / /g;
18 6 Z 5
509 i, =
18 ( EJ I 2Y
SN 2. 302 . =
= P -y 8 L4
Answer: 3 gf ¢S f,—-‘—'-’
3 2. P w
1‘2,"_.__-—-—7" - l.( ,/Zc >
0o §
ID: Quick Check R.3.7 /

7. Perform the indicated operation. Express your answer in lowest terms.

& 2 B S
26 26 '/(’ 7 .
8 20 T ¥ - -
m s 17 7 <2,
(Type an integer or a fraction in lowest terms.) "7—;—#
Answer: 6 .
"1 —/[L
ID: Quick Check R.3.9
“"/ ¢ ___j_z X =
' o /3
g . B
,-""-‘-_T_____-

20f59
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Y
8. Add the rational numbers. Express the sum as a rational number in lowest terms: it i - - A
//yuiié 3 (!, f/ f/ ,f /L /7.

|l . € - .- . o =g
" Je % [ e s )
= | e
4 ., 3 I
%+ e | (Typelan integer or a simplified (fraction.) : Pt
g S’___(_, >4 ﬁj: ézZ} \
— > - /
Answer: 29 6 (§> . z ¢ f —- N
0 gl 2 S | =
50 + 3) 2 . -\I t/L/ ‘\I.L. ( J) 2 e 3‘ ‘)
— | \ =2 3
ID: Quick Check R.3.12 $ ’;Z o< T o ( 2] 2
9. Divide the rational numbers. Express the quotient as a rational number in lowest terms. e
. , L & T I
14 s groimee 2,5, Ty 1Yy 7
“Ta ’ f . — 1 Gy
= ez | 'y 3 g .
—9_ 2’6 II 7 g D / ’L 2-—_
14 ] I ( |
3 -1y, 8. o
—8 =— f_/‘ e 6 h/ e 7 3 }
8 7 | L
9 =T
(Type an integer or a simplified {fract:c;zn.) 7 ﬂ-?___it B R 4
— @ = =N T . - .
Answer: 21 *“‘__g—-_ 2 L, —'2"( < \j
4 W L™
- .r—_’_____‘_..-‘- 4 ” L 7 Z"

ID: R.3.29 / % )

10. Add the rational numbers. Express the sum’zs_a rational number in lowest terms. %,M.V Z/ 5/ f‘/ ]/ /(/ /7/
5 1 -2 s ] /Y
St - 74 ury A
° wr
e |

_ % + 11—4 = J (I{pe a7n integer or E,'Z, simplgi;ad fr’a::tion.) :
Answer: 31 =3 [ 7 L= 2. ]
56 ~35 4 L L= 7
it Cor- 227
ID: R.3.37 i
- =RTNE- o
e V4

=3 < >
s

12/26/2019, 4:03 PM
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11. Evaluate the exponential expression. ( po— W -

(-4)2

(-4)%=] _

(76 ™

(o))

https://xlitemprod.pearsoncmg.com/api/v1/print/math
- ' S
FE m DA )

Answer: 16 ( / ( ////

ID: Quick Check R.4.4

12. Evaluate. - (__‘{) }, (\/_7(-’ ~DAS ) —
(-0 ,-7)/,-7)/~-;) - h
SR S— Y=
Answer: -343 ( — 3 %3 ﬂ
ID: Quick Check R.4.5 e

13. Evaluate. — f} ¢ =

-13

ID: Quick Check R.4.7

P{ o DA

i = (13)(17)=
gy S— — (169)=

Answer: — 169 [, -
ol [T

A

4:3+8+6

4+.3+86= (Type an integer or a decimal.)

Answer: 60

14. Evaluate the following expression. (/ " 5 ..(_ a/ - G -

(P94

2+ 796
L+ Yiz

/
ID: Quick Check R.4.10 @ \\\ (/

40f59

T12/26/2019, 4:03 PM
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15. Evaluate the following expression. 2 o (/ T ] oZ ta_ /7( “' })/}w

2-4+7:2+5 2 =% ~+ JYrs T
2-4+7.2+5=  (Typeaninteger oradecimal.) St/ F5 =
Answer: 17 /l’fr‘

ID: Quick Check R.4.16 ( (7 ‘“\7
16. Evaluate the given expression. = B -._.*‘ = i e = —
6-[7(3-2)—7] p 6 L : (} &) L( < /6/ r ])/}5/)
6(7(H =1 * —
( C 7~ j':_
Answer: 0 6 ( 07 -

~ u”L’/

ID: Quick Check R.4.17 (Q’:/ J
————

17. Evaluate the expression. ) o= L —
44247 ?7 % & 7 = (/6/}”‘9/75\)
| Gt /Y < e

(Simplify your answer.)

Answer: 18 @ ?};T/u P 4

ID: Quick Check R.4.20

6-[7(3-2)-7]=

18. Evaluate the expression. 3 ¢ Aﬁ( /’.\_; N Z( ) R (/j o

3+[(10-8)+2]

3+[(10-8)+2]= (Simplify your answer.) 3 '?"[ (2) e ZI

Avswer: 7 3+ [ i;ff . (ﬂ pm DAY J

37“7’

ID: Quick Check R.4.23

=

50f59 =i — - — = 12/26/2019, 4:03 PM
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19. Evaluate the expression. ?_(_ ‘< " (3/’_ (‘) = ;/}C’ﬁ' }%;3
gr2 (6)°

4+2+(8-2)=

¢+ /2= ;
Answer: 16 i /6 ‘H\\ S v
-~ & | ;
B
ID: Quick Check R.4.24 Lf— [
20. Simplify the following expression. _( 7 + 7 ; (7/ 1-: (/W(f b /:):,_a‘ ; >
~17+7.47 PR, o =l
wra AL A0
—17+7-42=; | (Simplify youranswer.)__( 7 __(L~? (’/6) s
==L 2 ;4

Answer: 95 v

I

ID: Quick Check R.4.25

21. Evaluate the following expression. _ 7 & 2 —_— (f ¢ 3 Z-z @
7.2-4:3 76 2 _,_‘;/‘(3)[3)2
7.2-4-3%= R (Type an integer or a decimal.) 7 o Z — G (‘T) “
S —(9)
/Y — 3§ = A7

? - P
ID: Quick Check R .4.26 FZ’ w e

e = = —
22. Evaluate the following expression. 5’ ( 5 P_,‘yj L
[+

Answer: -22

“

5. (8-4)2 : L g
2 - e ( ) = 4= Y
5+(8-4) = (Simplify your answer.) . @{//‘”" D/J > /’/
' S. (Y] ==

Answer: 80 S, . ( / 6)

ID: Quick Check R.4.27 2 ¢
: Qui eck RA4. O — AR
— == £ a) ;_,.f_/’ .\’f/tv_*f —
_,_...--_____..--“d_'

S

i S
6 of 59 12/26/2019, 4:03 PM
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23. Evaluate the expression.

3+2:(5-4)= _ 2 e T P I ( l)
Answer: 5 ™ ?\ /
ID: R.4.43 C
“H e

24. Simplify. -
p—3[7—(3—5)1 —3 [7 (3 )] (/Q/ An ,Dﬂ >
-3[7-(3-5)]=| | =3 [7 - (“ Z)]
Answer: —27 —3 E7 + ZJ €/
=3 [ 9) -~ ”
_|DI R.4.45 ("2/7 N
25. Evaluate the expression. S és PN (& iz )j

5:[6+5:(2+5)]

5¢[5+5+(2+5)]= (Simplify your answer.) SA [ 5 + 5 (7>j

. 3
Answer: 200 j 6 CZ ;0} 5 j //m

ID: R.4.53 LZ Vo \C“/

-

_/

e

N - /,/ - FerMs o
VIR

26. Use technology to evaluate the expression. (1)
3 g B - \
3-[3]2 ( Z'O’/QJ/“/’ ’ 1
7 |4 : '
2 2 — < ( */) (A e
3 - [E] = 7 / I L.-tz |
7 4 —_—— \ 7 L(/ /
(Simplify your answer. Type an integer or a simplified fraction.) \ Fox o I_.-"f
'g ﬁ —— ‘\ (’3.- (Z:—_ .
Answer: 15 _ T = ! - |

/
2/% /7). :
ID:R489  / /(,/ o /'2/77/: (7 -

/it I

7 of 59 - 12/26/2019, 4:03 PM
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)
. 4‘/ o _ - /
27. Evaluate the algebraic expression for the given value. { -—Z,( 7 G = §w\77 </{/" é/
x? = 2x +86, for x= 6 (/ij) C____ 2(6)74( z = >
2 : b2 S W B
When.x=6,x -2x+6= . /6)(5/ - (/ {/'7‘(: < %(/,,ﬂd) \)

(Simplify your answer.) " ]
36 — (L ¢ =

Answer: 30
2976 < . P a

ID: Quick Check R.5.11 ( e = 5

28. Simplify the following expression by combining like terms. ( W(—’ ) D /L ;Rﬂ\
—r 7 1 ’ }!
8x + 2x 5?}( ] '( - =
- 2 f‘/ ;
8x +2x = (Type a simplified expression.) (/ 0 )( e >/f"

Answer: 10x

ID: Quick Check R.5.18 o

e ————— : = _\/«]}j —f
s o — —r k 2S5 &
29. Simplify the algebraic expression by combining like terms. C‘: X/ .)< - (f .7L[ 7 .
6x - 9x -4y +17y j j

Bx-9x-4y+17y= (Simplify your answer. Do not factor("‘fj')(—: :) \/ 7

Answer: —3x+ 13y (’!/)(/ 7 D/-L NS /}

ID: Quick Check R.5.21

- — e — F— —

30. Simplify the following expression by combining like terms.

DA S
3x-4-2x+5-9x %C// - :

3x-4-2x+5-9x= (T ype a simplified expressson )
o e " T

Answer: - 8x + 1 3)( ,_k(- — (_;. C— T X =

ID: Quick Check R.5.24 m

"

A
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31. Simplify the following expression by combining like terms.

4(z +6) - 62

4(z+6)-6z=

Answer: —2z+24

ID: Quick Check R.5.26

C

( r"

https://xlitemprod.pearsoncmg.com/api/v1/print/math

(z —f@)féf

V%—t2Y~6Z

——

=2 2 —t ¢ 2y <

—2x2+4x-3; X=-4

The expression - 262 + ax - 3 evaluated when x= —4is

Answer: - 51

ID: R.5.49

—1 (~y//T/~f G(-<)—3

= L,,,;'__/

—2(/6)
VA —~/(,

—>

33. Evaluate the principal square root.

4/100

4100 =| ﬁ
(Type an integer or a decimal.)

Answer: 10

ID: Quick Check R.6.4

34. Evaluate the principal square root.

49 =
(Type an integer or a fraction.)

Answer: 3
7

ID: Quick Check R.6.6

+ Y=~ 3

32. Evaluate the following expression for the value given. — 2 )( — (/ { . 3

0 ()~ Cf(-?)f- 3 =

A==

- /

(Type an integer.)

—3

<

Pt )

—

9 of 59
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27 -
35. Evaluate the expression. !
Y& DA

- ¥ U
m= I _?_i A\ U(:if'!

Answer: |,19] Z ‘Z //_,//
ID: Quick Check R.6.21 K%

= 5 W,,,-z%rmf,fﬁ

36.
Simplify by factoring. [f/’i—. z Je= (
= (Type an exactanswes—us radicals as needed, 3;
V78 /g /b

. & (2 )Y B
Answer: 342 L/Z‘}'ﬁ(/-i LH \//‘ C/ QQ (E’
ID: Quick Check R.6.25@

1D Quick ) | /5(2

Q7 & D7 S )

37. Evaluate the expression.

1
49 -
T , 7 |
2 - | (Type an integer or a fraction.) m
_,.--"___ e /
Answer: l
7
ID: R.6.33
e — = = ——— — = ——
38. Simplify the expression. /& {)( 1 /./IM-.JI{,‘-"Z/ }/ (; 3 /I//J\_ )
I / "

Jrand n(ier X

fiard - | W : NV J

(Type an exact answer, using radicals as needed.)
Answer: 11|x| I )/ - N

ID: R.6.99 )( ,/

\IX

1omﬂ/v 12/26/2019, 4:03 PM
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N — N

i \
39. Find the area A\;md gircumference C of & circle of radius 3 inches, _———— =
\ ~ -
=5 C - 2 WT NS
The area is Q)

(Simplify your answer. Type an exact answer in terms of

The circumference is @)
(Simplify your answer. Type an exact answer in terms of x.)

%::-1__:” Cw dﬂ
(1) O in. (2) < in. —
7 in2 (1 in2 .
= 1v

Answers 9xn /
- T ( )"
(1)in.2 AC i (q)/,s)
& is 117"

(2)in. -

’ 7\ g

ID: Quick Check R.7.8

e - —— = 4-_‘_ _— ./_' .‘.". —
40. Find é area A of(a‘i;iangle yiih heith 6 i}dhes and bage ai)ﬁhes,
- ‘.‘ - = > L = j
A ;- (a/{f,\,-
(1) ) cubicinches g 2
) inches %{) ‘L A)/ G /
() square inches L

L
Answers 24 A - J?: ( /(y ;
(1) square inches A - (i‘/ / /

ID: R.7.29 / /4 /y

41. Simplify the following expression.

L
m o hﬁ by
3 2
m-em” = | (Simplify your answer. Use positive exponents only.)

5 Xe A 6&64% /ﬂu bt/ >

- 5
Answer:

ID: Quick Check R.8.5

T ——
11 of 59 \\_/—,f’///,l 12/26/2019, 4:03 PM
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\
42. Simplify the expression. Z )( ( . (‘{ )( )

o« (-4x) ——-Zf >(7—f’} ) U\(((/( ﬂ\}w!/)

2x ( 4x3) (Simplify your answer. Use positive- e);_ponents oniy)

—
Answer: _ g, 10 < '_-7 )( - )

g

ID: Quick Check R.8.6

43. Simplify the following expression. )( ‘ 7
x17 ? -
X9
/
X17 /
9 = (Simplify your answer. Type exponential notation with positive exponents.)
X - -

S bt oA Powers

Answer: 8

ID: Quick Check R.8.10

44. Simplify the expression. ' 7 . === 8
- /6 a . me, T2 0,0
= o G | P ¢ A
12a* / LLG LU//L

ﬁ( e a"-f = (X 163

16a d&\

i =| (Use positive exponents only FSir!'lpllfy your answer.) léf 3 (}/
12a -
2 o @ g ™ Sub Ao | o (L /
A 4 2 — = AW (
nswer: - ] !
3a3 P a’:’:} e [ 1 \ /(, ~ ZZ_. 721
ot ’;) (L =223
B - X = e
ID: Quick Check R.8.11 o 4
45. Simplify the following expression. " q.
4 —3
9 —
9 4= : (Type an integer or a simplified fraction.)
A e rtwk
Answer: 1 v
6561 C’“

ID: Quick Check R.8.15 q C; $ 9 //

12 of 59 12/26/2019, 4:03 PM
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46. Simplify the expression. ( C/ )( 7 ) / G X dj) =

(ax*y?) (ex*y~3) ¥ X q’qu 3"; ; 41/0" / O 72

(4x4y2) (6x4y - 3) = | (Simplify your answer Use positive exponents only.)
¢
Answer: 54.8 L 4 )( 7
y 2wy’
. TG
ID: Quick Check R.8.27 j

47. Simplify the expression using the power rule. ( )(*

(x')*
(x19) 4 __ (Type exponential notation w ith ;j: }vz )lponents ) M/{
y /, bt

Answer: 576 X 7 C ” — \\ ‘/L//

><
.
\\

ID: Quick Check R.8.34

48. Simplify the expression.
(*) "~
= 9 - »
(x4) = (Simplify your answer. Use positive exponents only.) /

Answer: 1

ID: Quick Check R.8.35

49. Simplify the expression using the power rule.
(x77)" e ,

-7y -8 ;
(x7) "= = / /

(Simplify your answer. Type exponential notation with positive exponents.)

Answer: , 56 ){

ID: Quick Check R.8.36

13 of 59 12/26/2019, 4:03 PM
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Impir e expression. /) (j X ) ~ ; -' \\:/.
50. Simplify the exp 3/)/3))(//)/3) - K}W#L’ﬁ% /’JW‘«)

(30° W
(3x)" = | (Simplify your answer. Use posutlve exponents only.) 2/ 7 /( o )
Answer: 57,3 3 X o
ID: Quick Check R.8.37 ¥ 5 ¢ 5 }(
m——— = — ———— = = — ———
51. Simplify the following expression. . / / — —
’//".') L/ y y <=y .'.J]

(4)° ?ﬂ)/j)j

3
(4)’4) N (Use positive exponents anly.)

Answer: gqy12

ID: Quick Check R.8.39

— —_—

52. Simplify the following expression. f

(28)F — : [;/(43'):'&___9

3\ -5
(2a%) 7=
(Use integers or fractions for any numbers in the expression. Use positive expohents
~5 5
Answer: 1 2 ﬂ =
15
32a f
[ _ el
———
: NS A
ID: Quick Check R.8.40 %
53. Simplify the expression. S e
[EJ = (Use posttwe exponents only. Simplify yourlinswer > ) C’ . ﬂ/'
(l (3) /;/Iou\/ P o Thtae” ¥
Answer: .3 2 . g N
216 = [ V)(3)

ID: Quick Check R.8.41 a )7

14 of 59 12/26/2019, 4:03 PM
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784
54. Simplify the expression. X( - V74 ,,,/M

[32]4 / £ ﬂ;;(:) %"‘“""”?’

g4
X
[—] = (Simplify your answer. Use- Cil_iva.e onents only.)

-

o
Answer: x36 X
T //E’
y "7 (
ID: Quick Check R.8.43 =
—
55. Simplify the following expression. -l A -') =

o~ (5

- 3 "
6
(7J = (Type an integer 7 ? simplified fracno

w—
Answer: 343 ﬂ’/é_,_/’/
216 /

ID: R.8.53 —

56. Simplify the expression

1288 %_,%
4x4y5 -

(Simplify your answer. Use posrtive exponents onIy Use mtegers or fractions fo‘r any numbers in the expras on.) /

Answer: 3,2 y 3 X 7 ,
_,/

ID: R.8.67 ”3 21 — \‘\%
_ 1 X’ Ty - )

15 of 59 12/26/2019, 4:03 PM
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57. Simplify the expression. 72 7 X 7 ) ol vew A YWA}}/[
(1) / (/,/(1) /3/(2) (1/(2) pov
()7 - | 7 X 7 - L

(Simplify your answer. Use positive exponents only Use lntegers or fractions for any numbers in the expression.)

Arower: 45,10, 7 e g x
VA

ID: R.8.73
58. Simplify th i ( T il 4 —_—
i impli e expression. = o . ———
. Z S = rg»J/ll*“
A (/) " A T
5 < Z

OR—

(Simplify your answer. Use positive exponents only se integers or fractlons for any numbers in the expression.)
y

Answer: 25 e = )

e ’_,__-———'—-______ -

22 | (M-1)

[
ID: R.8.75 =T
59. Simplify the following polynomial. Express your answer as q_;un’gle polynomial in standard form. ;;f// o
=
(2@ +12x+12) + (28 -3x-3) <2 X -{'/[/(—f/L ~ 2X ‘3/( S
(Zx +12x + 12) + (Zx -3x—3) =| (Slmplnfy your answer.)
S e , ) " /
7 X “tax—~+ g N
= _/_,/'

ID: R.9.65

60. Simplify the following polynomial. Express your answer as a single polynomial in standard form.
(12x% + 10x+6) - (6x* +5x+4)

(125 + 10x +6) - (6x° +5x + 4) = (Simplify your answe/)//

— -
= ker

R A Rl T S A
ID: R.9.61 *_’_'_L : __"“‘“"—j\ (‘/(/
bX =K 2

16 of 59 - SEES - 12/26/2019; 4:03. PM
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ERAN B
61. Find the product. = __,__/ g X 7 o P; 0 W
/”’) i — ’L F
(&) (-3%y7) 0
AT y
R L (0

(6x’y) (-3x°y") = (Simpli u"énswer)
Answer: _ 4 8x8y8 Z X 7 1/
ID: Quick Check R.10.2

62. Multiply and simplify the expressions. — ﬁ_ﬁ\\
e G X (/( - X 9 ) f?own,

Bx(x°+5x+9) = | (Simplify your answer.) \—¢/

3d)< AN e S’S/)(

Answer: gy3 + 3052 + 54x -
)< —~+ ;7 ox = T+ S x »/C/ )

ID: Quick Check R.10.5 =

63. Find the product. — ’a?a Zﬂ (?a =¥ ga é —,é )

-8a°b(4a% +3ab-b°)
. thmp w//
-8a’b (4a +3ab-b ) (Simplify your answer)_ / /*/

Answer: 322" - 24a%0% + 8a°b° = 3 "‘10{ é — 2¥ )( é +ya L

ol —
ID: Quick Check R.10.6 &3/2&, é ZMA/

/1

\,u

64. Find the product using the difference of two uaresfonhuia
(4x+7)(4x-7) f

X+1) Vi) <
@x+Nax-n=____
P [6xX “— 28X + 2 5>< —%$ -

ID: QU|ckCheckR101( /(/( == {/ 6 e;\‘/t_,/

I
17 of 59 12/26/2019, 4:03 PM
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4

65. Multiply using the rule for the square of a binomial.
(I
(x-9)°
. : - =
(x-9)*= (»\/ )(/ .:?)

Answer: 42 _ 18y + 81 )(L ﬁﬁ( , (7 X”Té C{(

ID: Quick Check R.10.21 &L - { 5 X 65// -

N
—— T — e ———

66. Find the product. ( )(—;/ /Q / (1/"” Z ) :

(x+10)(x - 8)

(x+10)(x-8)= (Slmpllfyyouranswer) _ N —— 0) /< —TL /“’ )< " e
e ‘{/_/
Answer: 42 , 5y — 80 C( + /J( fo g \
— —’_’—/
ID: R.10.37

67. Use the FOIL method to find the product.

(5x +6)(5x - 1) (g 'fQ(T)(”'( )

(5x +6)(5x - 1) =| ' (Simplify your answer.) ‘ - l

Zy/i — X Zox —( <
Answer: 25,2 + 25x -6 \
C2sxt Fts0—¢ = %

s

ID: R.10.39 h __//‘
B 68._ Find the product of the polynt_)mials. ) — ~ L "‘*-1" | _"-——-E__
x+2)(x? +3x+8) ()(f L/ ()( ~ 5 X7 Y) <
(x+2) (x2 +3x+8) =) (Simplify your answer.) - - e ~

3
Answer: 3 4 552 1 14x + 16 X _t %/1 _T X/( T Z)( L_ﬁ (’('—f/é =

ID: R.10.49 )( — $ X t =/ jd '7f/( ~
) o I
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69. Find the product of the polynomials. 3

£0 K 4+ P xXFG =
(sRszxr2)uxagy 2 20X FITX 3R T 6 x T XF

(5x% +2x+2) (4x + 3) = & 3 N _
d W,
dod ¢ 23X "¢ ) S

Answer: 20x° +23x + 14x + 6

ID: R.10.53
Nr-u..___‘_________

70. Simplify the expression. 7 32X "29’)(7 Y0 A = ZU)(/ 1/ gy, —é 3') <+ §X - (7 o =

(8x = 5y + 2)(4x — 3y + 5)

(8x— 5y +2)(4x -3y +5)=

-
sz ~wx7 FAX Ty Y A )

-

Answer: 342 — 44xy + 48x + 15y = 31y + 10 - s
ID: R.10.95
71. Solve the following equation and verify your solution.
~9x-4=14 ' Ny
.
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
A. The solution set is { }
(Simplify your answer.)

B. The solution is all real numbers.

C. The solution is the empty set.
Answer: A. The solution set is -2 }.(Simplify/ your answer.)
ID: Quick Check PF.1.9 & /

C‘ Lo = et
Gty ———FF
- C,
e <o
ax . =
—9 |
-H. 'l
V=
19 of 59 e 12/26/2019, 4:03 PM
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= 7 € — P /’%J ‘.
72. Solve the following equation. ______r-f"‘"/ /( / 3 6 ¢ L f J’ 7 , . f)
sl e

12y +6=22 3 /Z r-"g = G
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
"/ A. The solution set is { _ } (Type an integer or a simplified fraction.)
i1 B. The solution is all real numbers. /& 7 = A 6
{ » €. The solution is the empty set. / d/ 2 / / G

—-"""_-_-_-_# - y2u
Answer: A. The solution set is 4 3 . (Type an integer or simplified fraction.)
'y

LT

y -
ID: Quick Check PF.1.10 "

73. Solve the following Imeal;ilftl/on//; 2 (/,(/) 6

2(x-4)=6 2)(“27

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

2X~F+ F° 6T

A. The solution set is { } (Type an integer or a simplified fraction.) —
{_» B. The solution is all real numbers. Z )( -
1 C. The solution is the empty set. Z ;( /%

Answer: A. The solution set is { }. (Type an mteger or a«mmphﬁsdynw/k/
ID: Quick Check PF.1.14 i /

74. Solve the following linear equation and verify the solution.

Cdx--1=axearzs —D — XY X/ LT
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The solution setis { }- < L+ 3= Sf)( T (f 5
(Simplify your answer.) — X %{: \//( o =2

7 B. The solution is all real numbers.

i+ €. The solution is the empty set. — ,( =z ¥ X —t 9/ -

—C — = =
Answer: A. The solution set is ;} (Slméﬁy —_ answlg) Y X~ % K Y X
—6 X © YL
— X v (

amm——

/-/

ID: Quick Check PF.1.15
-

’—6 —C '
(=7

200f59 ~ 12/26/2019, 4:03 PM
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. o )
75. Solve the following linear equation. ﬂ /’5') + /J/// S_/ < 25_:/ // 3’)
-7 3 /s

y e : . i )
3 15" s 7 Lél/")(g)ﬂf'j([): Z((3/
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

209y —++ly = 63

e
- -

A. The solution set is { } (Type an integer or a simplified fraction.)
() B. The solution is all real numbers. 2| / c G 3
() €. The solution is the empty set. Z/l'7 C)/,J,

Answer: A. The solution set is { }» (m ype an integerora 5lmphﬁed\ /

ID: Quick Check PF.1.19 Q =

76. Solve the formula for the given variable. o
< < 1w ——
F =Knw for K /
el <
K= | (Simplify your answer.) 'i' - -
Answer: F
nw

ID: Quick Check PF.1.33

——— — —_—

77. Solve for the indicated variable. - X - ( J —

Cx + Gy =K, for x

X= (Simplify your answer.)

Answer: K-Gy
C

ID: Quick Check PF.1.34

78. Solve the formula for the specified variable.

u=hrforh
h=
Answer: u r
- .
u -
ID: PF.1.79
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79. Solve fory. é//( ”('7 = ( L
R Sy e T LK
y= ~ /‘
— — ¥
Answer: —4x+12 <““=- J / L )< O/l /

SIS Tt
ID: PF.1.87

80. Solve the equation fory. S =
7x+2yi11 y 7K~ 27 - L/"'/
7/(_“7—-7/(—(/“7

y= | | | (Simplify your answer.)

Answer: 7 11 Al . ’(j — 7/‘(
22Xt X LM 2 .
G L _7X “-%ﬂ s

ID: PF.1.89 Q 7 - L

S — — — e —
———— 7%

81. Findthe number"j such that the solution set of@;f+3=30 is { - 3}. LL )(":’3 ) !
a=| | a)("’f ’b = /; = 30 27
T int fraction. S -2 > —oY4 . &/
(Type an integer or a fraction.) Q(»—S) _f,rs - 3 > = 5
Answer; -9 w-’}CL—fB < 2 = 3 '__ T“‘w\
R AT >
ID: PF.1.111 =16 = =27 -

36x, 14 (X Z'/LISISIX QCZG
The GCF is A ¥ ) A A 2600

Answer: 2 @( = D\\\ 3 C?

ID: Quick Check PF.2.6 /

82. Find the GCF for the given list. (E /“/4)"! M,

“83. Factor out the greatest common factor,

5a -15a —/ rq‘

5a®-15a= | __(Type your answer in factored fgrm.) g’"‘a (Cz — ’} ) j
Answer: 5a(a - 3)

ID: Quick Check PF.2.9
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7

84. Factor the greatest common factor from the polynomial. _ \ S_ l 5" 2 ‘ 5_‘
36xvE = 40x2\5 7 2@)(7”70)(7’— d)(7
Xy —40x"y +20x° y
3y’ 40y’ r20%y = %( [ 9 % L l.»LL:r S \Lj

(Factor completely.)

Answer: 4Xy5(9y-10x+5xy < 4/’)(7 ( _—/J/< '7“5/\/ )/V

ID: Quick Check PF.2.11

¢
85. Factor out the greatest common factor. ¢ ' ,
-2 & —+7¢ Z =

-242% +722 ) o TR
form.) Y %( 8 3 ) @\

-242% +722= | (Type your answer in facto

Answer: —24z(z- 3)

ID: Quick Check PF.2.12

86. Factor the following polynomial. L o
x2+5x+6 X 1 S)(lc =

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. x2 +5x+6= (Type your answer in factored-form:) - , =+
Kt D(xr3)= A
Answer: A, x2 +5x+6= | (x+3)(x+2) (Type your answeri ored-form:)

ID: Quick Check PF.3.4 /?
(e W ;
87. Factor the polynomial. { (G } )( 0.
— (2 XrGoT

x2>=13x +40

B. The polynomial is prime.

Select the correct choice below and, if ne

ry-Aill: rmh@WTbEYtb"complet&yg)r—chm

(X —9)(x=7) 2

A X°-13x+40=

B. The polynomial is prime.

Answer: A. x> 13x + 40 = (x=8)(x—5)

ID: Quick Check PF.3.6
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88. Factor the polynomial.

x%-2x-48
Select the correct choice below and, if necessary, fill.in-the-answer box 1o ¢ @mpleteryoaﬁho/ic;fz

X 6)@— // )

Answer: A. x*~2x-48= (x+6)(x—8) |

A. X*-2x-48=

B. The polynomial is prime.

ID: Quick Check PF.3.8

89. Factor the polynomial completely. If the polynomial cannot be factored, say it is prime.

-2 +4x? +6x -""f_______:) "'ZK(X "_ZX-—B)

Select the correct choice below and, if necessary, fill in_the- answerbox 1o cump te your chom7
v{/

— X

(Type your answer in c:lured form )

A 23 +4x® +6x=

B. The polynomial - 2x3 + 4x% + 6x is prime.

Answer: A. - 2x3 + 4x2 +6x= =2x(x-3)}x+ 1)'_ (Type your answer in factored form.)

ID: Quick Check PF.3.14

90. Factor the polynomial completely. If the polynomial cannot be factoreld. say it is prime
,,-——'7 .;-2,(/'9 _1'5—}0{—6):
epbex-tcmorﬁ‘l ete your choice ——a
e 3 Z)

factored form.)

-2p? - 10p-12

Select the correct choice below and, if necessary, fill in

A _2p?-10p-12= (Typ

B. The polynomial - 2p2 -10p-12is prime.

Answer: A, - 2p2 -10p-12==2(p+ 3)(p + 2) (Type your answer in factored form.)

ID: Quick Check PF.3.15

12/26/2019, 4:03 PM
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91. Factor the difference of two squares.
16x° - 81y2

16x% -81y% =

Answer: (4x + 9y)(4x -

ID: Quick Check PF.3.25
S '

92. Solve the quadratic equation using !he Sc.lu'ar_g Ré_c;t Pro_phe_r_t)_r;.i...:" ey
T A 'W - (/’fy

The solution set is {_: b. < é ~ )("f 7

(Simplify your answer. Use a comma to separate answers as needed. Type an exact answer, using radicals and i as

needed) {_f/] = ~( o1 (‘f‘7 . 6
Answer: -1,-13 {__{_7"7 = —(-= d‘ﬁ X“(”) -7 B G- )

ID: Quick Check PF.4.16 ( )(’ ~( 3 J/L @/

= — —
93. Solve theequat:or@factormg 3 é 7# 6 cé ﬁg — // -

22 +6z-7=0 - ) / ¢ 7
What is the solution set? (2_ - Q @_ﬁ 7\? .
E— (=0 0n <Lrrz,
{ it (Use a comma to saparata answers as needed.)
& —(r(z7( O &+)-pcu— 7

Answer: -7, 1 @ H‘(I" 2 / d @7:;\)’ L//:_//‘/

iD: PF.4.31

94. Solve the equation. /;7 Z_ /I = 7 e , ( (v

2__ _ _
mom=rz mbt_rm—"722z= O
The solution set is {I }

(Simplify your answer. Type an integer or a fraction. Uja comma to separa answers as needed.)

Answer: - 8,9 (/1/, —r- X ﬁﬂ ‘——/ = <«
/4/"7Lf~/u a " -9 =c
Prf-3-0"F 0/(' V- 51 zors

=T P Do

25 of 59<_/—”/ 12/26/2019, 4:03 PM
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95. Find an equation for the line with the given properties. Express your answer using either the general form or the
slope-intercept form of the equation of a line.

Slope = 2; containing the point (3,3)

The equation is [»
(Type an equation. Simplify your answer.)

Answer: y=2x-3

ID: F.3.47
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96.
Find the slope and y-intercept of the line. Graph the line. ‘Jhy
10+
x+y=5 f
y 8-
Select the correct choice below and, if necessary, fill in the 6-1

answer box to complete your choice.

A. Slope= (Type an 2-
integer or a simplified fraction.) ' b
] ' I v |_ L T L T = 1 ~ ] 5 T 2 T L A >
() B. The slope is undefined. W08 £ 4 2,3 2 4 & 8 W
2

Select the correct choice below and, if necessary, fill in the

answer box to complete your choice. '4f
=

A. The y-intercept is . 3~
(Type an integer or a simplified fraction.) |

-10-

B. Theline x+y=5 does not have a
y-intercept.

Y
Use the graphing tool to graph the line. Use the slope and ’{/——(' )

y-intercept when drawing the line. -~ ¥~ o
A BRSO

Answers A. Slope = -1 (Type an integer or a simplified fraction.)‘ff-. &j'_ =S S = )<

A. The y-intercept is 5 . (Type an integer or a simplified fraetion:)

Loonh Q —x

hy
Y~"

_..h
o
do
[*2]

ID: F.3.83
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97.

Find the slope and y-intercept of the line. Graph the line. hy

4
124
x=1 |

Q-

Select the correct choice below and, if necessary, fill in the
answer box to complete your choice.

A. Siope=
(Type an integer or a simplified fraction.) e i - X
A2 9 B B 3 6 9 12

i
'

B. The slope is undefined.

Select the correct choice below and, if necessary, fill in the
answer box to complete your choice.

A. y-intercept= 9.
(Type an integer or a simplified fraction.) |

B. The line x=1 does not have a
y-intercept.

Use the graphing tool to graph the line. d = { 3
Answers B. The slope is undefined. =l
B. The line x =1 does not have a y-intercept.

h v
12~

2 U||)

1 X
T T . ————T— 1 M
! -

-12 -9 H 3 ’[1 ‘ ii> 9 12
D ( o)
%
AP
ID: F.3.85
- — e e ey

- = —

——
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98.

29 of 59

- y-intercept =
(Type an integer or a simplified fraction.)

Answers A. Slope = 0

A. y-intercept =

B. The slope is undefined.

. Theline y= -4 does not have a

Find the slope and y-intercept of the line. Graph the line.

Select the correct choice below and, if necessary, fill in the
answer box to complete your choice.

(Type an integer or a simplified fraction.)

Select the correct choice below and, if necessary, fill in the
answer box to complete your choice.

Use the graphing tool to graph the equation. Use the slope
and y-intercept when drawing the line.

(Type an integer or a simplified fraction.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

Ay
12—}
ﬁ-:
4
B
3,
e
1 ] i i i ¥ T o lT"-)
12 9 B 3 3 B 9 12
.3
g
EH
A0

-4 ((Type an integer or a simplified fraction.)
Ay
12-
:_g_
G-
3]
b3
] ' L L) T ] T >
-6 -3 6 g 2
L
B
(O .,ﬁr) (// =<t }
/ XS
Iz‘—.

————
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99.
Using the given equation, Ay
(a) find the intercepts of its graph and 10
(b) use the intercepts to graph the equation, a:
6x+2y=12 -
(a) Select the correct choice below and, if necessary, fill in 4“'
the answer box to complete your choice. 9.
X

A. The x-intercept is o5 5 % 51 34 8 8 0
(Type an integer or a simplified fractlon ) 24
B. There are no x-intercepts. 4;
Select the correct choice below and, if necessary, fill in the b_
answer box to complete your choice. .
-B-
) A. The y-intercept is ==

(Type an integer or a simplified fractlon )

B. There are no y-intercepts. ; @ )C ~ V4 7 (T

_(b) Use the graphing ?ool to graph the equatign. Use the_ /“"‘,,‘d X',..,/\f_x, v} /{ ~ ‘7 = \| ’
intercepts when drawing the line. If only one intercept exists, .
use that intercept and another point to graph the line. I é /( =3 2 p / — ( C_
Answers A. The x-intercept is 2 . (Type an inte_geri_or a simplified fraction.) 9 /( o o < ( (&
A. The y-intercept is 6 . (Type an integer or a simplified fraction.) |

Ay D/cvﬁL (=1t

(0/(’)

{ /'
) (2/0)//“4[,,”/! C/
T, é(--f?7

0 B 6 4 -2 . 6 8 10

2] LA 7.4,7&447 /ML Y=o
/6 O]+t =

- 12/26/2019,-4:03 PM
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100. Decide whether the given linear equations are parallel, perpendicular, or-neither.

yeaes ——7 T /7)(-//)

1
Y='EX+5 -v.—N.\> gjL,Z }412/('_'6.4

Are the lines parallel, perpendicular, or neither?

A. parallel 51”('3‘ /77/ /772

B. perpendicular
C. neither

https://xlitemprod.pearsoncmg.com/api/v1/print/math

Answer: B, perpendicular

ID: F.3.106

101. The equations of two lines are given. Determlne if the lines are parallel, p

y=4x-9 S k7, Pix— b

erpendicular, or neither-.. - .
v L/ N

!

y=4x+5 /17&)(__; (/"77' = Y \\

Are the lines parallel, perpendicular, or nalther?

() parallel 5/ r<ﬂ7 / - %{ -
) neither
) perpendicular

@a el /f / / /7 v

Answer: parallel

ID: F.3.107

5 \ﬁ//

310f59

12/26/2019, 4:03 PM



finalm1314COC149sulllljjplacealkref-Alfredo Alvarez

102. Solve the inequality 19 - 3x < 10. Graph the solution set. e

https://xlitemprod.pearsoncmg.com/api/v1/print/math

In set notation, the solution is {x| | }. (Type an inequality.)
Graph the solution set. Choose the correct graph below.
\
i " Y I P P :uluul'r:||||r | s 1-._
(:)A' "y y r A T L, L T OB. LI I i | T LI v - l.
9 6 3 0 3 6 9 9 6 -3 0 3 6 9 1
O €. () D. <ttt —(————————g-
9 6 3 0 3 6 9 18 15 12 9 8 -3 0
/
p;
Answers x> 3 P
,’/IJ
D AR R e e f
c. 9 6 30 3 6 9 o
/"r..
/
//
ID:1.1.4

[T —3X </=

//,'/~ 3 — L

=3 Y <=9

320f 59
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103. Find the following for the function f(x) = 3x* + 4x - 3.

33 of 59

(a) f(0) (b) f(1) (c)f(-1)
(e) —f(x) (M f(x+1) (9) f(4x)
(a) f(0) = (Simplify your answer.)
(b) f(1) = (Simplify your answer.)
(c) f(-1)= (Simplify your answer.)
(d) f(-x) = (Simplify your answer.)
(e) —f(x)= (Simplify your answer.)
(0 f(x+1)= (Simplify your answer.)
(g) f(4x) = (Simplify your answer.)
(h) f(x+h) = (Simplify your answer.)
Answers -3
4
-4
3x2 -4x-3
-3% -4x+3
3x2 +10x + 4
48x% +16x -3

3x2 +6hx + 3n% + 4x +4h -3

ID: 1.1.43

https://xlitemprod.pearsoncmg,.com/api/v1/print/math

(d) f(-x)
(h) f(x + h)

12/26/2019, 4:03 PM
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104. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
f(x) = 5x + 4; g(x) = 3x - 2 (f"/""?//’f) =

Find (f+ g)(x). reg ¥ 362D ¥ '
(a) Find (f+ g@)(x) -+ ) —+ (3\(—(_)4

(f+g)(x) = (Simplify your answer.) Exler St o B ¥—2 =

What is the domain of f + g? Select the correct choice below and, if. necessary fill in the answer bclx to complete your

choice. < 2/)( —f g M Gy \>
A. The domain is {x| b l ( / 4 )
rate

(Use integers or fractions for any numbers in the expressmn Use 2 comma to se

answers as needed.) (..,- —— /) ()(,; s \v =
B. The domain is {x| x is any real number}.
Fra— D <)~

(b) Find (f- g)(x). [ Sxrer) — (3x~1) =
(f-g)(x) = (Simplify your answer.) {/ ~ & ’—}X"fz

What is the domain of f— g? Select the correct choice below and, if necessan.g fill |n the answer box to complete your -

choice. m "l" 6 - A= clg e \

; /
A. The domain is {x| b (“ o )/'/
(Use integers or fractions for any numbers in the exp ;ssron Use a comma to separate - ~ o

ded. = -
. ::SV:EFS as nec: Ie ) I i } ///\"7
. e domain is {x| x is any real numbper -
A8 v 509

() Find (f » g)(x). (g'y_',q) /3/~-L ) =
(fe@)00=| ___ (Simplify your answer) [SX =[O0k — 7 x —F =

What is the domain of f+ g? Select the correct choice below and, if neoessary. fill in the answer box to ccumplete your

choice. /S v _( ) ¥ 7 - 3 _,(( wl:;\)\

A. The domain is {x|
(Use integers or fractions for any numbers in the expressnon Use a comma to separate

answers as needed.) 2 A X~ o
I -t Y T |
B. The domain is {x| x is any real number}. (*'2"" )(J/) 2)( ( +7~ e
(d) Find (—] ). /}/(’-( ) — 3 “/( ¢
9 . . = })( -
t j (<) — B
[—J = Simplify your answer.) = / -
o SR — 7 N E 5N
f Q; S -2 " Q 1: z -
What is the domain of —? Select the correct chouce below nd, if necessary; fill in the answer box to cor ple]e your —

choice. ° 7,,9)[{/ {X/ s J_mjil ~ P,
A. The domain is {x| [fjj /3) 3l e

(Use integers or fractions for any numb the expressmn Use a comma to separate

answers as needed.) _l,: / 3 ) 2% r-f-/Q__
B. The domain is {x| x is any real number. Zé 2 H\L,/‘//-"
i /[7‘7/(3/ _;;H,,J -
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() Find (f + g)(3). ('/"///\7 =Xt

(f+a)3)= (Type an integer or a simplified fraction. )/ i ’y /‘V/ 2/~ €
Find (f- g)(4). e :
(0 Find (- g)(4) HQ)/Q/J/J X/K\
f-g)(4)= T f lified f
(f-9)4) (Type an integer or a simplifie r&/)ﬁ/ Yad

(9) Find (f+ g)(2).

(Frg)(2) = (Type an integer or a S|mpl|ﬁed ﬁact:on )(/ ) A// /ﬁ )( “f X~ é/

— 4
(h)Findé(1). /(2) /51 ))ﬁf/(")
” Q)0 (XD e

f
{5](1); | (Type an integer or a su |l ied ﬂactlon) /3(4’) — é‘,z- — (})

i o o
Answers 8x +2 7 / 9 & |
x is any real number}. //@ /)( ( Y = 2/

B. The domain is {x|

2x+6 Gl /) ,,)f’_ L{,ff
B. The domain is {x| x is any real number, / 2 6 )
15x% +2x -8 )
B. The domain is {x| x is any real number}. / 5 ¥ &
+ /= —_
-2 (’/7)[)& 30—
A. The domain is {x| x#%

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

26 M)/ S'/I/ff“/

14 J() ) —l _
56 =2z k/
j')( D= 5=
ID: 1.1.67 e &

(774)//) =

Gk

350f59 12/26/2019, 4:03 PM
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105. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

(a) What are the i tercepts' «

(z;2) //:-") /4, 1)
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)
N rEerh&—— [ L€y 1o h#
(b) Théamal is| [=.3 3 e — 4 y /

(Type y

The@;fwer in lr;ervalf%tatlon.) | [)” ‘#J - ’]‘\O »pj

(Typeryour answer in interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your

choice.
> [ (1,3 (
A. The graphi tncrea/ngon C Q\j & j /
(Type your a r in interval-notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice,

A. The graph ls@iasmgon [ 3/ ?‘j CO) '7

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(vB. ThE graph is not constant on any interval,

(d) The functionis (1)

(([f - nelther odd nor even.
odd.
even.
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Answers (- 2,0),(1,0),(0,1)
[-33]
[0,1]

A. The graph is increasing on | [-2,0},[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on |[- 3, = 2],[0,1] \.
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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106.
(a) Graph f(x) = |x + 2| - 3 using transformations.
(b) Find the area of the region bounded by f and the x-axis
that lies below the x-axis.

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that
square units.

lies below the x-axis is
(Simplify your answer.)

Answers

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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107. Factor the polynomial completely. If the polynomial canpnot be factored, say jt is pr|me Be u to look for a greatest

common factor. i~ _..é 6 (L) S 7&) ~'CO RLY
- 3692 +42q + 120 = 2({) < ) 3(")'-{“1’ ) f,j )
Select the correct choice below and; mmﬂwmmpﬁ/)/our cholce

A- - 369 +42q+120=

B. The polynomial is prime.

Answer: A. - 36q° +42q + 120 =| - 6(2q - 5)(3q + 4)

ID: P2.1.21

___—--_—-_-_-"———._
108. Factor the polynomial completely. If the polynomlal cannot be factored, say it is prime. Be su ék for a greatest

common factor. f(c /57 ‘f‘/7fj'-1‘/2 /3':-{‘4 \
100?850 460 s @2p+ 3 )(WM) o) .. (2.1

Select the correct choice bel d, if necessary. fill in the answer box to complete your chéi

"

A. 30p2 +85p+60=

B. The polynomial is prime.

Answer: A. 30p> + 85p +60 = [5(2p + 3)(3p + 4)

ID: P2.1.23

109. Factor the polynomial completely. If the polynomial cannot be factored say it is prime. Be sure to look for a greatest
common factor.

<
9 ~ix (¢ Spct1s) sk
- 25° +16x° - 30x ‘/ ﬁ)< ¥
Select the correct choice below and, if necessaryfillimtiie answer box to complete yolir thoies.

A - 23 +16x% - 30x = (K-‘ 3) &h 5))

B. The polynomial is prime.

Answer: A. - 2x° +16x? - 30x = = 2x(x = 3)(x = 5)

ID: P2.1.25

e

| S
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- e ( 'i d
110. Solve the following equation using thf/quadglc fon;r;ula - , e e
. — (e} +i/ r~ e )
fe e’ l‘b@ e\ /6) LV (78 ~ Y3~
b TV~ 1L

¥ LA —_:,__i(?)\

=l — P

3x —16x 12=0
= =/ e A

141& solu{uon setis /

a comma to separate answers as neede
) I s56 +/ vy

X = _@:———
Answer: 2 a 6

B v 8TV Foo
- 6

- /6 6Laéoq)(z.
6\

V.
%‘f();ﬁ /\/t:

ID: Quick Check P2.2.2

{_},__,..\_H_\ A
111. Solve the equation using th quadraﬁg,faﬂujfa:'%
v ap-panlia I £ Loy
2 (7 — DI =Y
x* -5x-14=0 \(:_,-—-- ===
4

\?f/ re ”‘
| b=ow, € . /

<&
oy 221
The solutmns is

(Simplify your answer. Type an exact answer, using radicals and i as peeda Use integers or fractions for any numbers in

—~

the expression. Use a comma to separate answers as needed.) | — ‘S*“TL - ¥ =9
= ()2 $) =) V) | 2 : 7 ;
Answer: -2,7 ’Y 0‘( ()” ! J/ - Y G SIS, “//
_——L——hh- /{/ - — {8 X - -
- STtV +56 -
ID: P2.2.11 X

‘ z ngD'%/ A=-2D

— — —

112. Find thq\s@‘@f‘mne Joining the{ciir’a\lgfs,ﬂ and (8,0).

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(' A. The slope is . ( 5 /) ( f 0)

(Simplify your answer.) 7 /
| l h_

() B. The slope is undefined.

._/_,,--- L'/ .
| 1 (?)7 - _",_/L \
Answer: A. The slope is =3 ‘ (Simplify your answer.) ,f/ 4/ )\

(1) /o)
7 (5F(1) |

pm T =

S —F .

ID:2.1.2
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113.
(a) Find the zero of the linear function and Ay
(b) graph the function using the zero and y-intercept. Ly
104
gx)=—-4x+8 ]
H-
(a) The zero is 8 6"_
(Type a whole number.) a
(b) Use the graphing tool to graph the linear equation. Use 2: i
the intercepts when drawing the line. — T e o T
2408 6 4 2 ] 2 4 6 8 10 12
=
.1]—:
-6
-8
104
-12- —_—

Answers 2

10+

-12-

ID: 2.1.23 j/o) _’7/6///(\\

ﬂ/f/" Jv % |

\_Y )= Y“‘// \

C -(2__)._ ?’/Z/'fl
G(2) «—87%

Q&jﬂ}’O st

41 of 59 = 12/26/2019, 4:03 PM
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114.
(a) Find the zero of the linear function and (b) graph the Ay
function using the zero and y-intercept. 12”|
(0]
1 )
H(x)= - Pl +3 8-
6_.
(a) The zero is : “j
(Type an integer or a fraction.) 2+
X

(b) l_Jse the graphing tool _to grapr.m the linear equation. Use 12108 6 4 21 2 4 &8 10 1'2"“
the intercepts when drawing the line. .3-
5
-
B
104

Answers 6

fgHo-r
Hby = o3
< AR < 35

H( 6)c ~2(5)—3

Hllz —3 +3

<(’\’;y/¢ Jed Ny

420f59 : 12/26/2019, 4:03 PM
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115, ’\
Suppose that a company has just purchased a new (%) ' OD
computer for $2400. The company chooses to depreciate 3600+ ‘-(
using the straight-line method for 4 years. ,L

(a) Write a linear function that expresses the book value of
the computer as a function of its age.

V(x) =
(Type your answer in slope-intercept form.)

(b) What is the implied domain of the function found in part
(a)?

.

2400

Book Value (dollars)
'

| 1200+

(Type your answer in interval notation.) e \) )
(c) Use the graphing tool to graph the linear equation. 2 “’f
(d) What is the book value of the computer after 3 years? ' .

i e
$' 3 i -
it ] T T T T
X

(Round to the nearest dollar as needed.) 1] 1 2 3 @ 5 6
(e) When will the computer be worth $1200?

Age (years)

(0, 209) (¢ o)

After year(s) the computer will be worth )(‘ *-h. ?(L *-11,,

(Type a whole number.) -/ [N - by - A/“’ /) Jurs Fuat 7 %
S / (7/ Y| —v ( l C‘ =

Answers - 600x +2400 ' N =7 ) __( ©9) )
— (2r0)= G2 (¥—
[0,4] y, (2700) ( (0) — () | ) )
Mx) 2yd)—" /X'"L

. N Y —2vy 0o = T-%
& 2 v (X )
4 i = —4ogvX
— 2400 , 27 Qv 6 — G A C Yru?
f§ 1200
T 3 1 % & &x
Age (years)
J
600 “f, )
2
ID: 2.1.51
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116. Solve the equation.
Yl - =
(x=2)(@2x+3)=0 (-l+0 oL ok C¥rE -3 o

The solution set is { } (Use a comma to separate answers as needed.)
A 3 k/r L ‘/‘/é " % e
nswer. 3 /1 A =
7 =3 ,éz/’
ot =
ID:2.3.3 - = 9‘ o
— o

2
117 Find '{/ :;95 if any, of the quadratic function using t e"&uadratrc formu a.What are the x-intercepts, if any, of the graph
ion?

oy Of the

finalm1314COC149sulllljjplacealkref-Alfredo Alvarez

) \ \ f(x) = 8x% - 1 + 4x i s

|" \ / Select the correct choice below and, if necessary, fill in.the answer box to complete your choice.

\ _,/' (Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma
g to separate answers as needed.)

The zeros and the x-intercepts are different. The zefos are , the x-intercepts

A. are
B. The zeros and the x-intercepts are the same. They are

C. There is no real zero solution and no x-intercept.

Answer: B. The zeros and the x-intercepts are the sa

V-

ID: 2.3.47 —//)//’ X)/,L:—ﬁ%)(-——// (}/f V//Z(“\ R
:25 b = € ==

Sy

N
SAFT

=
y--(9) </ (4/) (-0
A G
K= —¢ *//é +7ZH
/6

———

C/—+(f7

12/26/2019, 4:03 PM
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(7

rthe quadratic function f(x) = xz +4x~ 12, answer parts (a)
through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?
up
down

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below

and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if

necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it is

decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

46 of 59
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Answers up el T—
\ .

[ \

(-2,-16) (S ’
x= -2 ‘_’(,[;/ - % /{’(7‘)( /
A. The x-intercept(s) is/are . —6,2 . '

(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-intercept is =12 :.(Type an integer or a decimal.)

Ay
20-

16-

ID: 2.4.37

— — —
i = -

119. Solve the equation in the complex nurrlbers stem. —g—— = A B a7y
4 »{v"r’bz-—q-‘(ﬁ‘ﬁ,\ ,’):.: [/O) "@/-V(I)/él)

x> —10x+61—0 < X =t

Gzl b0, €61 \’—é S
The soluﬂon set IS/ { } (Use a comma to separate answers as n J)
= /U + (00 - ey
S5+61 Y

2(1) */ //
ID: 3.3.2 /,__. /U 7'/W f{__ : | =
(=L 1 “ /> )

\/ /

./

Answer: 5-61

(’ /{/fz_ I = 6‘/1“

"'M..._‘_\__ - . —,
47 of 59 o 12/26/2019, 4:03 PM
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120. Write the expression as a radical and simplify, if possible. S’ ?_) 'L—' e W /\ (/C
=5 > Y

1/2 ——

25

Select the correct choice below and, if necessary, fill in the answer box to co plete y(our choice.

) *i_
(A 5112 (Simplify your answer.) ( ; =
B. The root is not a real number. ; / ( é )

Answer: A. 251 /22 5 | (Simplify your answer.) t z2
ID: Quick Check P4.1.2
121. Evaluate the expression, if possible. ( ’) )
1
(-1) /3

Select the correct choice below and fill in any answer boxes in your choice.

,_/}

) A (- 1)1 /32 (Type an integer or a simplified fractiony-
(_1 B. The answer is not a real number. ( = {)
Answer: A. (- 1)1 /3] -1 (Type an integer or a simplified fraction.) [
v— ( -" !
7
ID: Quick Check P4.1.3 7

122. Evaluate thé following expression, if possible. BD
272/3

Select the correct choice below and fill in any answer boxes in your ¢ oaoe

(A 972/3 /( ) ‘e

B. The solution is not a real number. 3

Answer: A. 272 /32 9

ID: Quick Check P4.1.10
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123. Evaluate the expression, if possible.-

36 1/2
49

Select the correct choice below and, if necessary, fill in the ar}iiwer box to completg your choice.

A, (36J1/2

|
75 = (Simplify your answer.) |

) B. The solution is not a real number.

49 7

ID: P4.1.31 _. //_ -
Sk L Z
¥/ = .

6

36 1/2 ‘ /
Answer: A. [—] = (Simpilify your answer.)
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124. For f(x) = 9x + 8 and g(x) = 6, find the following composite functions and state the domain of each.

50 of 59

(@) fog (b) gof (c) fof (d) gog
(@) (fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo g is {x| }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(") B. The domain of f o g is all real numbers.
(b) (@of)x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

Q A. Thedomainofgofis {x| r
(Type an inequality. Use mtegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o f is all real numbers.
(c) (fo )(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo fis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{1 B. The domain of f o f is all real numbers.
(d)(gog)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domainofgogis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{3 B. The domain of g o g is all real numbers.

Answers 54x + 8
B. The domain of f o g is all real numbers.
54x +48
B. The domain of g o f is all real numbers.
81x+80
B. The domain of f o fis all real numbers.
36x

B. The domain of g o g is all real numbers.

12/26/2019, 4:03 PM
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ID: 4.1.23

125. The percentage of patients P who have survived t years after initial diagnosis"of a certain disease is modeled by the \

function P(t) = 100(0.8)}.  ~— > #__ P{ 1) r /0 N /0‘ 7 ) i \_\

(a) According to the model, what percent.of patients sur\ri\:@aﬁe' initial diagnosis? i //l
(b) What percent of patients survi after initial diag ( /(/ ) / 0 N Z) / / /
(c) Explain the meaning of the base,0 ) the context of this problem ( { /

fial-diegrosis; . l//

(a) According to the model, 1% of patients surviye 1 year fter i
(Type an integer or a eclmal )

el

—

rinitial diagnosis.

(b) According to the model, ' ;\% of patients sur-\('m; 2 yé;rs afte
ecimal.) \

(Type an integer or a

(c) Explain the meaning of the base 0.8 in the context of this problem. Select the oorre;:f choice below. and fill-in the

answer box to complete your choice. éﬂ( Z ) /Ob) (ﬂ f/
" A. Aseach year passes, % of the previous year's survivors have suw:vet},ﬂ/ 7 / /0 J / / Z / / /

[/ B. As each year passes, % of the previous sur\nvors take the diagn /
) C. As each year passes, % of the total patients h%e sumﬂy\éd / / Z ) é g/ \\ 7
Answers 80

64

A. As each year passes, 80 % of the previous year's survivors have survived.
ID: 4.3.109

e ———— e

126. Find the amount that results from the given investment. —

$200 mvested( at 4% compountk quarte/ty after a pen@ of 4 years

s
After 4 years, the investment results in $ v/
‘..’ v

(Round to the nearesteentasneeded) i \
Answer. 23452(/4 /}(/ /i/ /;, yr4)
ID: 4.7.7 A A" (/“f' iy

G L

M (z f—) ) -
5 L
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= Jey <

— 1 o /o o
4x -2y=10  Jox 42 g4 n LK~ 2E
Bx +y =23 j‘_ﬁ“—“—-— — /
/9 O = G e B i
Select the correct ch0|ce below and, if necessary, fill in any answer boxes within your CI'E (’ —
_—

finalm13 14COC149sulllljjplacealkref-Alfredo Alvarez ?

'_,

127. Solve the system of equatsons If the system has no solution, say that it is inconsis

7 A. The solution of the system is x = andy= : <SE L,;Sff’_
(Type an integers or simplified fractions.) q)( = " / / o
(1 B. There are infinitely many solutions. Using ordered pairs, the solution can be writte
{(x y)x= ~,yanyreal number} 4 % - L“ = =
(Simplify your answer. Type an expression using y as the variable as needed.) / — L =
() €. The system is inconsistent. /‘ _— 2/7 F_n . /e’(‘
Answer: A. The solution of the system is x = 4 andy= 3 a5 J é
(Type an integers or simplified fractions.) : /_ —l / —_ __(_;_

ID: 6.1.33 ( é/ ‘7) (7 3) ) Q:;:;\] P

—

128. Suppose that an urn contalns 4 blaclf. marblesQ’ yellow marbles, atg green marbles. If one marble is selected,
determine the probability that it j: @ green.

The probability that the marble is green is |

(Type an integer or a simplified fraction.) _— x\
= )

Answer: 9

» e nf v /aJ?t/'/”?/ -
ID: 8.3.35 ﬁé, ( N . T
jv’fen
— — #—

19/0cl< = 7(9(11\,«:",‘ Plads

7 =
Yt 7+ 1

— /

J O
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129. 5 e Y
On the real number line, label the points with coordinates 0, 3, - 3, Px -25, 2 and 3.25.
e Y
Label the point with coordinate 0. e
:: —+ : —+— : —t—t : fo—4 : +—4 : —t— ; —t—+ ’} —t+—t i F——t { t——t %}

5 -4 -3 2 -4 0 1 2 3 4 5
Label the point with coordinate 3.

5 -4 -3 -2 -1 0 I 2 3 4 5
Label the point with coordinate — 3.
<t F————————>

5 -4 -3 -2 -1 0 | 2 3 4 5

5
Label the point with coordinate 7
e B e e e e e o B B s A S e S A e R e et b s e e Sl S a2

5 -4 3 2 -1 0 i 2 3 4 5
Label the point with coordinate —2.5.
Attt >

-5 -4 -3 -2 -1 0 { 2 3 4 5

3
Label the point with coordinate e
D s e L. B L S S A A T B L S L T B T A S A

5 -4 -3 -2 -1 ] 1 2 { 4 5
Label the point with coordinate 3.25.
<~ ——i—

-5 -4 -3 -2 9 0 1 2 3 4 5

e ———— e i O
Answers
At e
-5 - -3 -2 -1 0 1 2 3 4 5

>

B e e B S e S e A B S S B S It o S [
-5 4 -3 2 - 0 1 2 3 4 5

D e e e e e i o e e T e S R e e I
5 4 3 2 1 0 1 . 3 4 5
- )
g’ 274
o I e S B e e S e B B S S e S o
.5 -4 3 -2 A ] i 2 3 4 5
/-2 e ( \ 4
e e e e e B I o o o e e e e S S o ey e o e o L e o o o e e e e o ' :
5 4 3 -Z -1 0 1 2 3 4 5
Lt
§ %
S B e e e e e B e e L B e e B B o o o e B e o B e e e e e S i T
-5 -4 -3 -2 -1 ] 2 3 a 5]
B,L
5 4 A 2 A 0 H 2 3T e A 5
A
B /
ID: A1.23 V4

/

!
S 1 —A—
. ——

_
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130. Evaluate the express@if x=-2andy=4. / ﬁ,
X+ 5y = /
X+5y= (Simplify your answer.) ; ‘ i/ ey ( ‘f) -
Answer: 18 ~Z 7 / Q=

ID: A.1.51 C/’Ji’;B ‘//

131. 5 find the Geleius monstre e
Use the formula C = —(F - 32) for converting degrees Fahrenheit into degrees Celsius to find the Celsius measure of the
Fahrenheit temperature. N e )

e N = —_— e
7 = 1(&3 3z 7C -2

(Fes0 .

c=__h : o Ci %[/3)

Answer: 10 C _ %/.’%Lﬁ

iD: A.1.81 g -
SR -

132. Simplify the given expression. Express the answer so that all exponents are positive. Whenever an exponent is 0 or
negative, we assume that the base is not 0.

[ : (3 x"‘)

6
3x
[ -4 Slmpllfy your answer. Use positive exponents only.)
5y

Answer: 1258 3///("3})( ( o ) i }/VQ % /)W/f ]

12 (——Q/(~3)

27y

,,,-f—?;—? y
ID: A.1.105 g j
= 9 P

>\
r
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o~ ™
133. The weekly production cost C of manufacturing x watches-is given by t;;fe formula C = 6000 + 2x, where the variable C is
.

in dollars.
(a) What is the cost of producing 1000 watches? C _é ovo—r{l < \
C - 6()&)()»(—2(/(1»0) \

(b) What is the cost of producing 5000 watches?
-(U‘Gouu% 7 o0

= //

Q 77023 )

B!

(a) The cost of producing 1000 watches is $

(b) The cost of producing 5000 watches is $

|

Answers 8000 C OQU — ( (} O f

16,000 ( C< $6 005 » %o 0

)(, ‘f“‘\//

ID: A.1.141

134. Simplify the given expression. Lj

oie 2/(6

3216 =| ] G ‘

Answer: 6 6 :2’/3

ID: A7.11 —
G_=

135. Simplify the given expression. Assume that all variables are positive.
3/x15 y21
3’x15y21 -

Answer: 5,7

ID: A.7.25
136. Simplify the expression. Express your answer so that only pnséitive exponents occur. Ass|
positive.

3/5,3/4,-2/3 )( )( )(

3/5 3/4 =2/3_

(Use integers or fractions for any numbers in the expr%v.sm
v 2(1) %A /
Answer: ,41/60 X § )(

/2
3¢

e

K“x%x

36 TY¥r ke

/ 60 R
55 of 59 —

T — T ——

ID: A.7.85
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. Ix_. ¢

137. Solve the equation. f_____7 = =
14 —_—— - ! Coss M*’%
e B ix(5)= 3C7)

Select the correct choice below and, if necessary, fill in the answer box to oomplete your choice.

5=

1 A. The solution set is { - } (Use a comma to separate answers as needed.)

) B. There is no solution. X = fid
| 4

Answer: A. The solution set is § 3 . (Use a comma to separate/answerg as needed.)
i Zi L.

ID: A.8.13

138. Solve the equation. 7 ¥ — 5(_6 66—~ 31 ——-'-—:—

8x - (3x +6) =6x - 32 SX —G T 6£-3 ¢ @6 VMOA7/
+ G -

Select the correct choice below and fill in any answerboxes in your chcuce
S§¥ ~ 7h T bx-312
7 A. The solution set is { } (Simplify your answer)
7y B. There is no solution. f_ }( T (o — Z é //
SX —Gx T A —C6-6 X

Answer: A. The solution set is { 26 } (Simplify your answer.) e ——
A ”/L / - o 3
ID: A.8.19 =z T

=

—————

139. Solve the equation.

SR = T (k) 2 2 Hes) (W;; %(’A
4x-5 x+4 —7/(’%Z07{' {!'/0 ((f{jMD4’5

Select the correct choice below and fill in any answer boxes in your choice.

Tk 2T B —2 7

" A. The solution set is { } (Simplify your answer.)

1 B. There is no solution. 7 X = / /}/ o 3 }}
Answer: A. The solution set is { } (Simplify your answer)

ID: A.8.35

56 of 59
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140. Find tife real solutlonsW g/ S@‘t ing gu/% §:{>

f?ﬁff’f il

What is the solution set? Select the correct chmce bélow and fill in any answer boxes in your choice.
o L
. 1 ; 4

(Simplify your answer. Use a comma to separate answ rs as needed.)

! B. There are no real solutions. 9‘( = 5/
Answer: A. { 3 b (Simplify your answer. Use a. Qomrna to separa ?swers as needed.)

ID: A.8.47 @

141. Find thefeal solutions 'oj(is qua /X HQK) Z [P() /7" 3 /5) = b
_ \‘0 ;—) (/;- = 3
e il gy -1 s T,
What is the solution set?

fect lb correct chonce below ,lnd fill in any answer boxes;in yox‘r choice.~ /
1A { }

O X 3567 ( 33
(Simplify your answer. Use a comma to separate answers as n aded ) ) &(,. 3( 6)

() B. There are no real solutions. 0 £ _ 3 (//?; z G
k"% =2 dff Y*/C»«.) 36 ——C

Answer: A. { } (Simplify your answer. Use a comma to eparale answers as needed. )

{__wé IS M AEGE= - ' "5B4D

/f [ K"

|

142. Find theaeal solutions_-ﬂ_oj the eql._l:_-:_njorr.

4+ yxTE=x  ~

Select the correct choice pelow and, if necessary, fill in the answer box to complete your answer.
) A. The solution seti { }

(Simplify your answer. Use a comma to separate answers as needed.)

) B. The solution is the empty set.

Answer: A. The solution set is { 12 I

(Simplify your answer. Use a comma to separate answers as needed.)

ID: A.8.55

—

ey T 5"‘ » I ;//40
(Uh/ﬂ‘) </

oy < (- e Mot=rs
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143.

e —
144.

. 5 - / ’
Solve the following inequality. Graph the solution set. ; X/ : /6’ 7 (?/ ¢
5x-6> 14 SK — 6T 6 e G
The solution is | §->( 2 / J

(Type your answer in interval notat|on Use integers or fractions for any numbars |n the expression.)

Choose the graph of the inequality below. g‘ > 5
PRI,
J L)

) A. Rl sheom(o mlea bl {
12 9 6 -3 0 3 6

I N P |
= T

i } t
9 12 12 8 6 -3 0

R o
3 6 9 12

- —I
LI i et i |

) C. isetemmm—p————)|

i
| 4
12 9 6 -3 0 3 6 4 12

Answers (4,00)

¢ I __J_éé
B. 129 -6 3 0 3 6 9 12
ID: A.10.63 (9 Qa}

-

Write the giva'@ in scientific notation, " 2 7 / / o ,
S e — . E /
o e

2911

291.1=

Answer: 2 911 x 102

ID: AR4.1.73

145.

_f_____________‘
Write th umber in scientific notatlon s

0.000746

0.000746 =|
(Use the multiplication symbol in the math palette as needed.

Answer: 7 46x 10~ /l
(M)
ID: AR4.1.79
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146. Write the number iWon without the use of exponents. . | 5’
Se3| X /0=

5.31x10%

531x10% = (’T\} /O,':’?.T)VL/}/

Answer: 53,100 s

—

ID: AR4.1.81
747_ W_'t the given n r_nbe_r & decimal, ] g )
: rite Vi u g i i — —
) 7,78¢ X /0 =
7.785%x10” 5
7.785x10 % =

Answer: 0.00007785

ID: AR4.1.83

148. Simplify the given expression.

_2/3 ‘///‘ﬁ

g=2/3

8
(Type an integer or a simplified fraction.)

Answer: 1 (2 .Aa
4

ID: AR4.4.23

149. Simplify the given expression.

27)~2/3 e
8
[?] = | (Type an integer or a simplified fraction.)
—— At )
(f ) ( R)
Answer: 4 '

)
(N

\////

\»d

59 of 59
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